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QUESTION 1

In a WDM system, after a distance of transmission, the OSNR of the signals at the receive end decreases to a certain
extend. Which of the following is the main cause? 

A. Use of EDFA 

B. The fiber attenuation is too large. 

C. New optical fiber is not used. 

D. Use of Demultiplexer Multiplexer 

Correct Answer: B 

 

QUESTION 2

Loopback is a common operation for routine maintenance and troubleshooting. Which of the following statements about
loopback operations are incorrect? 

A. The hardware loopback is performed by using the fiber jumper or self-loop cable to perform the loopback on the
optical port or electrical port. 

B. When performing a hardware loopback on an optical port, you need to add an optical attenuator. 

C. After the outloop is performed, the signals are transmitted to the internal. 

D. After the inloop is performed, the signals are transmitted to the external. 

Correct Answer: D 

 

QUESTION 3

Which of the following protection schemes require the APS protocol? 

A. ODUk SPRing protection 

B. ODUk SNCP 

C. SW SNCP 

D. 1:1 optical line protection 

Correct Answer: A 

 

QUESTION 4

When different routes are used for client-side 1+1 protection, the working wavelength and protection wavelength cannot
use the same wavelength. 
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A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

Which of the following is not a PW APS switching condition? 

A. A warm reset is performed on the board. 

B. The board software is faulty. 

C. MPLS_PW_SF 

D. A cold reset is performed on the board. 

Correct Answer: A 
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